77 7"7 '0n 2,0 naw .70

— 9915 @Y TIWaAR PRRWRY PEIIR DYV 197
He was laden with food and drink from Friday, etc.

OVERVIEW

X>r1 " cited a X072 (in support of s"27 ruling that °»7 y51 N7°PYD 1913 N°PY) which
states that if a person was laden with objects from before naw, and subsequently
carried out these items on Naw he is 2°°11; proving that "»7 Y51 N7°PY2 1913 1Py, Our
MvoIn qualifies this Xn>°72 and explains why it mentions "9 ¥ and not N2w.

— 21 RY 1Y NDAYT 999N NaVNYN 'uay TIYVYo
The &n»11 is discussing a case where he stopped to rest after it became dark
(after the onset of naw) and then carried it out; for if he did not stop to rest after
the onset of 2w he would not be liable for a 1277 -

mdoIn explains his ruling while responding to an anticipated difficulty:
- *nUNS 1999 15V XY 11 NON NIPPYD 19N NPPYT 23 YY 9N

Even though 1 n9°py is considered as if there was an y2r n9°py, nevertheless
he is not 2»m°», since the first 793Py (which was made *"1van, when he was laden

with the 7pwm 1°70I%) was never nullified -
— 9909 INIHINY 1199 7900 NG NI AN NI (3,0 97 JAPY IINTD

As the X3 states later, ‘one who moves his articles with the intent of moving
them from one corner to the other corner of the same room, and while he was

moving them he decided to take them out to the 7" he is 995. The reason is -

= 99 NHYNRAY NYYN NIPY NN NOY
because the initial 79°» was not for this purpose. The first 7Py was a permissible
7Py (to move the objects within the same room). That 77°p¥ was never nullified since he never
stopped moving the objects. The subsequent 1913 NPy is not considered an 77°pY since there was

! mooin states specifically w1 Ty to exclude An32 Ty (where he stopped [merely] to adjust his load). An37 Tay is
not considered a proper 1117 and would not suffice to make the following 77°pY a proper 771°py.

* Seemingly, when he took the last step from the *";71 [and entered the 2";71] it should be considered as if he made an
"772 7Py (and a 0'"'7772 A0an), since AT YO NRPYD 1913 NY°pPY; he should therefore be 2»1 for axx!

® The person placed 1pwn 1°22% on himself *"van (this is considered an 77°py of 7wd [on naw 27w]). If he was not
v 7y from the onset of N2w, he never made an 77°p¥ on naw. The rule of [*A7 yor nN°pYa] 191 N7°PY is similar to a
regular 77°pY. An 77°pY can be made only if the item is at rest; otherwise it is not considered an 717°py. Here too since
he was not at rest since the onset of naw, the only 77°py is when he picked up the items initially before naw and
placed them on his body. There was no subsequent 731737, therefore that 77°py was never nullified and there can be no
subsequent 77°pY unless a nnn (such as w1dY TaY) is made first.

1
TosfosInEnglish.com



77 7"7 '0n 2,0 naw .70

never a nni7 after the permissible 7°py. Similarly here too, there was no nnin after the Hw 77°py
7N on W'Y, therefore there can be no subsequent 191 NPy of 217,

mooIn responds to an apparent difficulty:
— 907 NON NVPYI 19N NVPYT 1IVNIYUNY ‘o nyan \*Jrb))

And the Xn>72 mentions that he was laden " wan (and not 75wnwn), in order to

teach us that 1213 n9°py is considered as if it was Y21 n95pw. moon explains -
— 2193 YNWN NP RY VIY My NavNYn 51)38)’ WV VP MN INT

For if the xn 72 would have stated, he loaded up after dark and then stopped

to rest and if he was then X°X12 he is 2>°17, it would not have taught us anything -
Sanuns NYPY DIVN 290 NNINY NIPPY NMN KD 191 NNINI NIPY IN 1DPINT

For even if 1913 n9°py and 2 Nt are not considered an 737 7997y, he would

still be 291 on account of the first 79°P» which took place mownwn [when he
subsequently placed it down in the 1"77].’

SUMMARY
1913 NPY is 11 NPy provided that 1913 was at rest before the 77°py of 21°17.

THINKING IT OVER

1. mooIn explains that if the Xn»™12 would teach its ruling when he loaded up
mowmwn we would not know that *»7 yor n°pyd 190 npy.® Seemingly if the 12
would have taught this case where another person loaded him fdDwnwn, we could
also derive that 7"nv23y, why was it necessary to mention *"wan.’

2. MO states that (even) if 1212 NAIM DPY 1S not 17 vON NI°PY), nevertheless if
he was 7ownwn 1wv and b 7Y and was then X°¥1 he would be 211 for the first
.‘h’pv.m [There would therefore be no proof from the &n>92 that n7°pPY> 191 NPY

* mooin taught us that this rule of 2n 51 Ppwm P92 WY 7 is only if he was mownwn v 7. The anticipated
question is why teach us this case where he was *"wan 1w and carried it out mOwnwn (which is slightly unusual) the
same ruling would apply if he was mownwn 1Wv and w95 Ty and then was X°¥ he will also be 27, since there was
D13 NPY after Town.

> See “Thinking it over’ # 1.

® However now that he was *"wan 1wu he cannot be 2mmn for the initial 77°py, therefore (since he was wi% Tv) there
is proof that 197 7%y is *»7 yon NPy (for otherwise why is he 211 even if w1dH TaY).

7 See “Thinking it over” # 2.

% See footnote # 5.

? See (Ppayy M7 QMM '9) TIT TN

10 See footnote # 7.
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"7 von.] Seemingly when he was w195 v, the first 77°py was %van1 (even if we
maintain *»7 y51 nRID WY w1 nman)', for if someone took the item from his body
and was XX, the second person would be 21, for it is considered an 77°py from a
mmn mpb.lz Therefore since the first 7Py was ?van1 and if we would maintain
MT YO NPV IR 101 NPy, how can he be 2n1?! There was no 7Py of 211! The
fact that the Xn»72 would say 211 would prove that *»7 517 n7°py2 191 m’pU!B

" The 1 nman is not considered a ;M3 to be 2»n» him since there was no act of 1n37; the item was not removed
from its place on the body (it always remains in the same place), nevertheless the item is considered at rest which
means the effects of the first 17°py are nullified. There is a distinction between the act of 7ir1i7 (which it may not be if
M7 YOI N2 R 1013 Nna) and a status of being 111 (at rest) which is not dependent whether *»7 y511 N2 101 NN
"2 This is evident from the 7awn which states 21 XXM 7212 Y01w W regardless how it got to be in the hand from
where it was taken.

B See Hxw7 "wR ,X"5w ,X"py1 P and 2 MR PRMK NMn.
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